
Wielomiany: Pierwiastki wielokrotne - odpowiedzi 

Strona I 

1. 0(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 3 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
6(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 1 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
−1,5(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 2 − 𝑘𝑟𝑜𝑡𝑛𝑦) 

2. −5(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 4 − 𝑘𝑟𝑜𝑡𝑛𝑦), 
 5(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 2 − 𝑘𝑟𝑜𝑡𝑛𝑦) 

3. −6(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 2 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
3(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 3 − 𝑘𝑟𝑜𝑡𝑛𝑦) 

4. 0(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 1 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
−3(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 1 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
−1(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 2 − 𝑘𝑟𝑜𝑡𝑛𝑦) 

Strona II 

1. 7(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 3 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
4(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 1 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
−0,5(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 4 − 𝑘𝑟𝑜𝑡𝑛𝑦) 

2. −4(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 5 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
−6(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 2 − 𝑘𝑟𝑜𝑡𝑛𝑦),  
6(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 1 − 𝑘𝑟𝑜𝑡𝑛𝑦) 

3. −7(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 5 − 𝑘𝑟𝑜𝑡𝑛𝑦), 
−1(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 2 − 𝑘𝑟𝑜𝑡𝑛𝑦) 

4. 4(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 1 − 𝑘𝑟𝑜𝑡𝑛𝑦), 
1(𝑝𝑖𝑒𝑟𝑤𝑖𝑎𝑠𝑡𝑒𝑘 2 − 𝑘𝑟𝑜𝑡𝑛𝑦) 

 


